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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 7818 10 2.2 15 66.5 100
2 7818 8.1 2.7 15 54.1 100
3 7818 8.9 2.5 15 59.5 100
4 7818 7.4 2.9 15 49.5 100
5 7817 8.2 2.8 15 54.8 100
6 7817 9 2.5 15 60 100
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Theme 2 Climate Change 
Question 2 


Rationale Expected answer 
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(c) Describe how the natural greenhouse effect warms the Earth’s atmosphere 
and how people’s actions are affecting this process.  
(You must draw an annotated diagram below to help your answer)  


See level descriptors below 3 1 2 6 


 
Question 2 (c)  
Levels of response mark scheme.  Work upwards from the lowest level.  Award QWC as an integral part of a best fit decision. 
Award 0 marks if the answer is incorrect or irrelevant. 
 
 


Level Level descriptor 
Level 1 


1-2 marks 
Demonstrates some knowledge and understanding of the natural greenhouse effect and 
of how people are affecting this process.  Answers which have not added to diagram are 
limited to this level. 
Information is communicated by brief statements.  There is a basic structure.  There is 
reasonable accuracy of spelling, punctuation and grammar. 


Level 2 
3-4 marks 


Demonstrates knowledge and understanding of the natural greenhouse effect and of how 
people are affecting this process.  Clear and relevant annotation. 
Communication is clear and logical.  Spelling, punctuation and grammar have 
considerable accuracy. 


Level 3 
5-6 marks 


Demonstrates detailed knowledge and thorough understanding of the natural greenhouse 
effect and of how people are affecting this process.  Clear, detailed and accurate 
annotation. 
Communication is clear, logical and has structure.  Specialist terms are used with 
proficiency. Spelling, punctuation and grammar have consistent accuracy. 


 
 
Expected answer 
The greenhouse effect - solar energy reaches the Earth as shortwave radiation (sunlight), the Earth absorbs, reflects and re-radiates the solar energy 
as long wave radiation (heat).  Greenhouse gases include water vapour, carbon dioxide, nitrous oxide and methane. People’s actions have added to 
the greenhouse gases through deforestation, burning fossil fuels, cattle ranching and landfill as examples. 
 


1 
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Sticky Note

Demonstrates some knowledge, identifying greenhouse gases such as CO2 and nitrous oxide. Knowledge is not secure, "sulphur dioxide" suggests confusion with other processes. 



Pencil



Sticky Note

Understanding is limited. Identification of ozone layer is incorrect however candidate does demonstrate an understanding that heat is trapped.



Sticky Note

Candidate addresses second part of question of how people's actions are affecting this process and demonstrates some knowledge although understanding is limited, again incorrectly discussing the ozone layer.



Sticky Note

This is a level 1 answer, overall the candidate demonstrates some knowledge and understanding. The addresses both parts of the question and was awarded 2 marks.












Sticky Note

Demonstrates detailed knowledge, identifying short and long wave radiation and greenhouse gases such as carbon dioxide and methane



Sticky Note

Demonstrates a clear understanding of the process.



Sticky Note

Clear diagram with relevant annotation.



Sticky Note

Begins to demonstrate how people's actions are affecting the process.



Sticky Note

Clear and detailed understanding of the processes.



Sticky Note

Thorough and detailed knowledge and understanding of how people's actions are affecting the process.



Sticky Note

This is a clear level 3 response. The candidate addresses both parts of the question and demonstrates detailed knowledge and a thorough understanding, it was awarded 6 marks.












Sticky Note

Demonstrates detailed knowledge of the natural greenhouse effect.



Sticky Note

Demonstrates detailed knowledge and begins to demonstrate a thorough understanding of the natural greenhouse effect.



Sticky Note

Communication is clear and logical. Specialist terms are used with proficiency. Spelling, punctuation and grammar have a consistent accuracy.



Sticky Note

The candidate fails to explain that the short wave radiation is absorbed by the earth before being re-radiated as long wave radiation. Not a perfect answer, nevertheless the candidate demonstrates a detailed knowledge and understanding of how the natural greenhouse effect warms the Earth's atmosphere.



Sticky Note

A level 3 answer if the question only demanded a description of the natural greenhouse effect. However the candidate was limited to level 2 and awarded 4 marks since the candidate fails to address the second part of the question about people's actions. This is a common mistake and demonstrates the need for candidates to plan answers to extended writing questions. 
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	 (c)	 Describe how the natural greenhouse effect warms the Earth’s atmosphere and how 
people’s actions are affecting this process.	 [6]


		  You must draw an annotated diagram below to help your answer.
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Theme 4 Changing populations 
Question 1 


Rationale Expected answer 
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(a) Study the map below:      
 (i) Give the latitude and longitude of 


Mumbai.   
Credit this answer only. 19 N 73 E   1 1 


 (ii) Describe the pattern of population 
change in India between 2001 and 
2011.   


Credit four simple points. Kerala has lowest population growth 
(1), north of country general has higher 
growth (1), one area in north east 
population loss (1), low growth along 
west coast (1), north east has greatest 
variation in adjacent areas (1), use of 
key (1), use of latitude/longitude (1), the 
overall pattern is of population growth 
(1) 


  4 1 


 


1 
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Sticky Note

The candidate need to make 4 clear points  to gain 4 marks in this question.



Sticky Note

"north of country generally has higher growth" is worth 1 mark.



Sticky Note

The candidate continues the answer by listing different regions of India and giving the numerical population change using the key. This is not describing the patterns and hence the candidate was given 1 mark for the "use of the key".



Sticky Note

"one area in the north east population loss" is worth 1 mark.



Sticky Note

This answer was given 3 marks.
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Sticky Note

The command word in this question is to describe i.e. to identify distinctive features and paint a picture.



Sticky Note

"overall pattern is of population growth" is worth 1 mark.



Sticky Note

"north of the country generally has higher growth" is worth 1 mark. 



Sticky Note

"use of key" is worth 1 mark




Sticky Note

"Kerala has lowest population growth/low growth along west coast" is worth 1 mark.



Sticky Note

This is a good quality answer addressing the command word to paint a picture and clearly describing patterns, making 4 clear points. This is worth 4 marks. 
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Sticky Note

Location lacks clarity and accuracy.



Sticky Note

Candidate has confused the term density with process of population change. Perhaps suggests a need to read the question and study resources more carefully.



Sticky Note

The candidate is using the key accurately but the lack of clarity of the location i.e. "south of India" or "centre of India" means that no credit can be given. Questions such as this can often lead to ambiguity when marking and it is important that candidates make points clearly.



Sticky Note

This point is not well made but clear enough to award a mark for "one area in north east population loss"



Sticky Note

Overall this candidate gained 1 mark for this answer.
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Theme 4 – Changing Populations


4.	 (a)	 Study the map below. It shows India, a country in South Asia.


Population change in India (2001-2011)


© WJEC CBAC Ltd.
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	 (i)	 Give the latitude and longitude of Mumbai.	 [1]


		  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . ° N   . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . ° E


	 (ii)	 Describe the pattern of population change in India between 2001 and 2011.	 [4]


	


	


	


	


	


	























































 


Theme 4 Changing populations 
Question 1 


Rationale Expected answer 
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(b) Study table below:     


 (i) Choose two development 
indicators from the table. Use this 
information to help explain why 
Kerala has a low population growth 
rate. 


Credit reasons for a falling/low birth 
rate.  Allow up to three marks for 
each development indicator. 
Development points are examples 
and not an exhaustive list. 
No credit for simple lifting of 
figures. 


Infant mortality low rate (1), no need 
for large family to ensure survival of 
some (1), to help support rest of family 
(1) 
Female literacy rate high rate (1), 
allows women to have careers (1), 
delay the start of a family (1) 
Contraception  widely used (1), allow 
women to plan families (1), may be 
provided free (1) 


 3 1 4 


(c) Explain why some parts of the world are densely populated.  
Use one or more examples to help your answer.  


See level descriptors below 3 3  6 


 
Question 4 (b)  
Levels of response mark scheme.  Work upwards from the lowest level.  Award QWC as an integral part of a best fit decision. 
Award 0 marks if the answer is incorrect or irrelevant. 
 


Level Level descriptor 
Level 1 


1-2 marks 
Demonstrates some knowledge and understanding.  
Information is communicated by brief statements.  There is a basic structure.  There is reasonable accuracy of spelling, punctuation and 
grammar. 
Max Level 1 if response focuses on growth rates and not density. 
Max Level 1 if response identifies reasons for variations in population density. 


Level 2 
3-4 marks 


Demonstrates knowledge and understanding of reasons why some areas of the world are more densely populated.  
Communication is clear and logical.  Spelling, punctuation and grammar have considerable accuracy. 


Level 3 
5-6 marks 


Demonstrates detailed knowledge and thorough understanding using examples to support the answer of reasons why some areas of 
the world are more densely populated.  
Communication is clear, logical and has structure.  Specialist terms are used with proficiency.  Spelling, punctuation and grammar have 
consistent accuracy. 


 
 


1 
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Expected answer 
Physical features such as relief, climate, soils, vegetation and natural resources influence density.  Human factors include industrial growth, 
agriculture, and accessibility and government policies. 
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Sticky Note

The candidate demonstrates a lack of understanding of the term density and is confusing it with population growth.



Sticky Note

This question is demanding that candidates gives reasons and shows an understanding of why some parts of the world are densely populated.



Sticky Note

Candidate identifies a "part of the world" although describes this as a "country" not a region.



Sticky Note

Candidate identifies some reasons for population growth and demonstrates some knowledge. This is relevant to population density but the candidate fails to demonstrate an understanding that a densely populated region needs to provide the resources to support this population.  







Sticky Note

Communication is clear and logical. There is a basic structure and a reasonable accuracy of spelling, punctuation and grammar. This reinforces the level 1 judgement.



Sticky Note

This response is worth 2 marks. It is limited to level 1 since it focuses on growth rates and not density.
















Sticky Note

Demonstrates basic knowledge.



Sticky Note

Identifies reasons for variations in density  although lacks accuracy.



Sticky Note

Some knowledge although the candidate does not expand on these points to explain why the area is densely populated and hence demonstrate understanding.







Sticky Note

Begins to demonstrate some understanding although lacks clarity and explanation.



Sticky Note

Demonstrating knowledge and understanding lacking explanation of how these points leads to a densely populated area.



Sticky Note

This is a level 2 answer. The candidate demonstrates knowledge and understanding but does not expand on points to demonstrate detailed knowledge and understanding. Lack of explanation means that this answer was awarded 3 marks.












Sticky Note

In the first sentence the candidate demonstrates detailed knowledge and understanding with clear examples.



Sticky Note

Clear understanding with explanation.



Sticky Note

Demonstrates detailed knowledge with the use of accurate examples to support the answer.







Sticky Note

Communication is clear, logical and has structure. Specialist terms are used with proficiency. Spelling, punctuation and grammar have a consistent accuracy.



Sticky Note

Thorough understanding and explanation of why the city area is densely populated.



Sticky Note

This is a clear level 3 answer. This answer demonstrates detailed knowledge and a thorough understanding and uses accurate examples to support the answer. This answer was awarded 6 marks.
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		  Choose two development indicators from the table.
		  Use this information to help explain why Kerala has a low population growth rate.	 [4]


		  Indicator 1  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	


	


	


		  Indicator 2  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	


	


	


	 (c)	 Explain why some parts of the world are densely populated.	 [6]
		  Use one or more examples to help your answer.
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	 (b)	 Study the table below.


Development Indicators Kerala India as a whole UK


Infant Mortality (per 1, 000 live births) 14 70 6


Female Literacy Rate (%) 85 57 99


% Use of contraceptives by married women (all methods) 64 48 75


Turn over.











